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In the following passage there are blanks each of which has been numbera (4) The
suitable word for the blank has been mentioned against the number. Choose the
appropriate word in the context of the passage to fill in the blanks. (Q. No. 51 to 55)

Ancestors and dead relations were believed to punish their living 51 for sins, both of

commission and 52. The aneestors were the guardians of 53 societys morality and they
chastised those 54 failed in their duty. The explanation 55 heard was. He told lies about
the riches and the ancestors killed-him. '
(2) people (?) decendants (3) acquaintances  (¥) friends
(%) remission (]) permission (3) omission (¥) mission
(2)a (?) the (3) any (¥) some

(2) which () what - (3) have (

(



u.4&. Choose the appropriate alternative to fill in the blank.

Who wishes to take ...... walk with me?

(%) the (R) a (3) an - (¥) Noarticle -
T.4e. The young one of a dog is a puppy. The young one of a butterfly is ......

(%) Cockerel  (R) Kitten (3) Leveret - (¥) Caterpillar:

T.4<¢. Name the underlined clause in the following sentence.

This is the house that Sudhir built. :
(%) Noun Clause . (R) Adjective Clause

(3) Adverb Clause of Place (¥) Adverb Clause of Reason

7.4%. Choose the correct Wh—quesﬁon for the following sentence to get the underlined
part as an answer.

Yamunotri is only 13 km from Hanumanchatti.

(2) How far is Yamunotri from Hanumanchatti?
() How far Yamunotri is from Hanumanchtti.
(3) How far Yamunotri from Hanumanchatti is?

(¥) How away Yamunotri is from Hanumanchtti.

U.€0. The diminutive of the book is a booklet. The diminutive of aisleis ......
() icicle (R) islet (3) island (%) hillock
u.§%. Choose the correct alternative to fill in the blank.
The fact ...... 1 told my father was incredible to him. _
(2) which () who (3) what (¥) how

u.§2. Choose the one which best expresses the meaning of the given word : Baulk
- (8) Identify (R) Encourage ~ (3) Verify (¥) Prevent
U.§3. Choose the correct use of Unless in the given sentence.

If you are brave, you will not fear.
(2) Unless you are brave, you will not fear.

(?) If you are brave unless you will not fear.
(3) Unless you are brave, you will fear.
~ (¥) Ifunless you are brave, you will not fear. -

w,6%. Thecry of a dog is bark. The cry of a cattle s ......
(2) gibber (R) screech (3) crinkle (¥) low



W.84. Identify the Figure of Speech in the following line:

- The valley play hide and seek.

(2) Alliteration () Metaphor (3) Personification (%) Apostrophe
%.88. Choose the appropriate conjunction to fill in the blank :

Live well....... you may die well. :

(%) so that (R) so (3) though a ) GF
W.69. Choose the correctly Spelt word from the following : :

(%) Fasist (R) Facist - (3) Facict (¥) Fascist
N.8¢. Name the Part of Speech of the underlined word :

I will watch while you sleep.

(2) Adverb (?) Preposition (3) Adjective . (¥) Conjunction

¥.8R%. Choose the correct Question Tag for the following sentence :

I shall not forget your kindness.

() Shall 17 () Should1? ~ (3) Shallnt1? (¥) Shan't I?
¥.90. Choose the one which best expresses the meaning of the given idiom:

Pin-money !

(%) Bribery (R) Money paid for compensation

(3) Alimony (¥) Allowance made to a lady for her expeness.

T.9%. Choose the correct Rhetorical question for the following sentence : Happiness_
cant be bought with cash. : s d
(2) Can happiness be not bought with cash?
() Can happiness not be bought with cash?
(3) Can happiness be bought with cash?
(¥) Both (1) and (2) ’

.6%. Choose the correct Assertive sentence for the following sentence :
What would not give o see you happy!
(%) I'would give anything to see you happy.
(R) Iwould give nothing to see you haﬁpy.
(3) Iwould not give everything to see you happy.
(¥) 1would not give ényﬂ]ing to see you happy.

¥.93. The phobia about air is aerophobia . The phobia about timeis ......
(%) Chronophobia () Cacophobia  (3) Catrophobia  (¥) Cynophobia
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The ery of a duck is quack. The cry of a horseis ......
(2) squeal (R) roar . (3) bleat (¥) neigh

Choose the Feminine Gender of Bachelor
(%) Girl (R) Spinster (3) Nun (%) Sister

Choose the correct Question Tag for the following:

We talk of women harassment.

(2) don't we? (R) do we? - (3) did we? (¥) didn't we?
Choose_the correct alternative to fill in the blank.

Avinash ...... a strange noise. :

(2) hear (R) hears

(3)is heai"ing : (¥) have been hearing

Choose the grammatically correct alternative from the following .
(2) My sister is the poet and the philosopher.

() My sister is a poet and the philosopher.
(3) My sister is a poet and a philosopher.

(¥) My sister is a poet and philosopher.

Choose the correct Preposition to fill in the blank.

Sudhir rescued the child ...... danger. - _

(2) from () to (3) for : (¥) of
The young one of a dog is a puppy. The young one of a deeris ......
(2) kid (?) calf (3) fawn . (¥) foal
Choose the appropriate alternative to fill in the blank.

If you went away now, we ...... you. :

(%) missed () will miss kg

(3) would miss : _ (¥) would have missed

Choose the correct Indirect Speech for the following sentence.
The Prince said, “It gives me great pleasure to be here this evening.”
(2) The Prince said that it gives him great pleasure to be there that evening.

() The prince said that it has given him great pleasure to be there that evening.
(3) The Prince said that it gave him great pleasure to be there that evening.
(¥) The Prince said that it give him great pleasure to be there that evening.



¥.<3. Find out which part of the sentence has an error:

Twenty miles / are a long way / to walk / No error. .
() A () B (3) C (¥) D

T.¢¥. Choose the appropriate alternative to fill in the blank.

Where thereis ...... will, there is ...... way. :
(2) Noarticle,a (R) a,a (3) Noarticle,the  (¥) the, the
T.¢4. Choose the correct use of 'Not only ...... But also' in the following sentence.

They danced to the rhythm of Dholaks and Ghoongrus.
(2) They not only danced to the rhythm of Dholaks but also Ghoongrus.

(R) Not only they danced to the rhythm of Dholaks but also Ghoongrﬁs.
(3) They danced to the thythm of not only Dholaks but also Ghoongrus.
(¥) None of the above.

T.¢&. Choose the correct alternative for the following expression:

A place for dogs..

(2) Stable (?) Hive (3) Archives ~ (¥) Kennel
W.¢6. Choose the correct form of pronoun to fill in the blank.

Ramand ...... were present.

(?) me (R) 1 (3) my (¥) mine

u.¢¢. Choose the correct alternatiye for the following expression.

Teaching with the aid of pictures and models.

(%) Iconography (R) Laxicography  (3) Chromatics (¥) Icc;nology
u.¢%. Choose the correct Compound sentence for the following sentence: .

He must work very hard to make up for the lost time.
(2) He must work very hard that to make up for the lost time.

(R) He must work so hard that he could make up for the lost time.
(3) He must work very hard or make up for the lost time.
(¥) He must work very hard and make up for the lost time.

. {I). . Choose the correct alternative to fill in the blank.

He i to play cricket before his marriage. ]
(2) is used () was used (3) used (¥) will be used
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Choose the word nearest in meaning to the underlined word:
Would you please rectify the mistake?

(2) correct (R) clarify (3) condone (¥) regularise
Choose the correct alternative to fill in the blank:

The prisoner was released on ...... for good behaviour.

(%) probation (R) bail (3) parole (¥) guarantee.

Choose the one which best expresses the following sentence in Passive Voice :
Piu promised me a present. '

- (2) Apresent is promised me by Piu. (R) Apresent is promised to me by Piu.

(3) Apresent was promised me by Piu.  (¥) A present was promised to me by Piu.

Identify the Tense of the given sentence:
Many interesting theories will have been put forward.
(%) Simple Future Tense ol (R) Future Perfect Tense

(3) Future Perfect Continuous Tense (¥) None of the above

Choose the appropriate PrepoSition in the following sentence:
1 am fired ...... walking. : -
(%) of (R) for (3) about (¥) to

Read the following passage and answer the questions by selecting the appropriate
alternative: (Q.No. 96 to 100) "
Bansilal's train was late and it reached Bombay a little after midnight. It was his first visit
to the city, and he didn't know where to go. He thought he would go to a choultry where
he would not have to pay rent, but he did not know how to find one at that hour. He
asked a porter to get him a cheap room. The porter asked him for three rupees to take
him to one. But Bansilal waved him away and walked out of the station. He wandered
through the streets and asked a number of people, but could not find a room cheap
enough for him. _
He sat down on a park bench to think of what he should do next. He was very tired and
fell asleep on the bench. He woke up the next morning, stiffin every limb; but he smiled
when he realised that it was the cheapest nights lodging that he had ever had.

Bansilal could not get any acommodation for the night as:
(2) all the hotels in the city were closed.

(?) all the hotel rooms were booked.

(3) the hotels were too expensive for him to afford.

(¥) he wanted to spend the night in the open.



¥.R9. Thenightin the open......

(%) refreshed Bansilal. (R) gave him aches all over his body.

(3) made his limbs stronger. (¥) did not affect him at all. -
U.%¢. Inthe passage, the word choultry should mean ...... I

(2) an expensive hotel. (R) ahighway hotel.

~ (3) aroadside eatery. (¥) a free resting place.

¥.%%. From the passage, Bansilal emerges as...... -

(%) athrifty person. _ (R) an extravagant spender.

(3) an adventurous person. (%) afun loving person.
9.200. The porter refused to help Bansilal because ......

() he was rude to the-porter. -

(R) he had no previous acquaintance with the porter.

(3) be spoke a language which the porter could not understand.

(¥) he refused to pay the porter any tip.
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